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SetId : 47071_80 11Aug18_Batch1_D
Section 1 - Paperl-General English

1) Choose the correct answer:
Don't behave in a manner. You are a
professional.

A) child
B) urchin
C) childish
D) children

2) Choose the synonym of the given word:
courage

A) audacity
B) helpful

C) thinking
D) fantastic

3) Choose the right option to fill the blank:
| like to sit and work my desk.

A) in
B) onto
C) on
D) at

4) Choose the right option to fill the blank:
My sister was skipping and she hurt her

A) heal
B) heel
C) eel

D) heath

5) Choose the correct answer:
Sometimes you come a good book in the flea
market.

A) on

B) across
C) after

D) away
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Section 2 - Paperl-Education and General Awareness

6) Which of the following options is the most appropriate
description of apartheid?

A) Religious segregation
B) Caste segregation
C) Racial segregation
D) Sexual segregation

6) GARYS IR 6RR6 LTTNR ATYS ISt F6R ?

A) diie daige
B) I d@ea

C) «gQl dalee
D) @er IRIFE

7) What is the name given to the teaching learning process
in which the teacher and the taught are connected with the
help of a satellite and there are possibilities of interaction
through communication technology?

A) Flipped Learning
Teleconferencing
Education through ICT
Video conferencing

e S

B
Cc
D

7) 6928AR19-388 085q 06 QLI 6JR8sa daw 9° daldg
Q0GR AIRINEA GAIRPIAN YQ° GAFICAIT 6IEQERT ARINER
UOLA FII6Q FRIRIAR ARIGR| 9Fel ?

A) 2aiesae fige 98 (Ta6g1R)
B) 65manTrsay”

C) 2E6 FIICeR Sl

D) Q@38 a5U6eag°

8) If the weight of a person is 60 kgs and height is 1.65
meters, then what is the BMI of the person ?

A

NN W
wdhNd

)
)
)
)

oO0Ow

8) 9 68 QUBQ Bee 60 @gll 96° 99l 1.65 g9, 606@ FITS
IATIQ 6868 ?

A) 36
B) 22
C) 26
D) 18

9) Which of the following statements is TRUE regarding the
density of sea and river water?

A) The density of sea water and river water depends on
the flow of water

B) The density of sea water is less than that of the river
water

C) The density of sea water is equal to the river water
D) The density of sea water is more than that of the river
water

9) 499 6 G91 BRQ AFT| A°UF6Q FIRNYC 694 KBF O] 266 ?

A) Q99 69 6 691 999 AIFP! KA YRIL AUER FEA F6Q
B) 999 9RQ AIFSI 821 §F 0IQ Q¢

C) Q9 679 UGSl 891 8F AF0 AR

D) QFQ 87 AIFS! F41 §F OIQ 2RjQ

10) According to the committee on emotional integration, the
social studies syllabus should be re-oriented in a way to suit
the needs of a

A) Secular state
B) Capitalistic state
C) Social state

D) Atheistic state

10) QISFIER Y1994 @FF 29aI AIFIFR 2UR AICIGA -
--Q ZINGIReIR RIS 8@ JRe-2R8aYd @QIdQ 2IRdyas 988
|

A) §FGR609 QIg
B) 9&Qie Qig
C) drliae QIg
D) QIEa%! QUL
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11) In which of the following election systems, each party is
allotted seats in the Parliament in proportion to its share of
votes?

A) Jefferson method of Apportionment
B) Plurality electoral system

C) Proportional Representation

D) Instant-runoff voting

11) FARYS F9I00 IR 699561, J60R AIREHER oRg Y219
6RI9 210 AFACR AR 2R 2R QRIAN ?

A) FITFAAQ & RS ARG
B) Q@g@0l 39108 9aa

C) aaIgaIGe gotue

D) 9QI% Qg & 6alae

12) Which among the following is an autonomous
organisation in pursuance of National Policy on Education
1986 providing a number of vocational, community oriented
courses besides General and Academic Courses at
Secondary and Senior Secondary level?

A) The National Institute of Open Schooling

B) Indira Gandhi National Open University

C) The Central Institute of Open Schooling

D) The National Institute of Distance Education

12) 49I6Q QYD 916 1986 Q AFANEER FORYS FUQ 69%
YEIde QPIc FrIFR 99 QR AT} 206a ARG 9]°
IRI6eFIR 6a1d QUB1E 2669 URIRR, YRR BER AI0IGAgES
g @8 |

A) Ydein G8QYg &g 6Uq Am°

B) Q@ql If Q11 €2 FERGHIGL

C) 634Im Q0dQY 8T BA] YR°

D) SYQSIR RedQus 2T GRIQ 1g6aaq

13) The Wood's Despatch of 1854 made certain landmark
recommendations in the Indian education like establishment
of universities for higher education. It is also known as:

A) The Charter of King John of England
B) The ‘Magna Carta' of Indian Education
C) The Charter of Queen of Britain

D) The 'Renaissance’ of Indian Education

13) 1854 @ QQ 659919 AF 48l AR FYFMIRAIFS 958 *Fal
@@ eIeeia daiea Ada AIRRea aBiagy FGleR | SIel 26y
699 FIF16R 96667

A) AL AR F] w AGQ

B) @0o1g e 921 4eQ Q! ClISIRIS!
C) T60R QUéllw 48R

D) QU9 SQIQ ‘FRRICas!

14) The intertwined swans in the NCERT logo symbolise the
integration of the three major aspects of the work of NCERT.
These aspects are:

A) Research and training, Synchronization and Advanced
Learning

B) Research and development,Training, Extension and
Dissemination

C) Research and training, Education and Digitalization

D) Research and development, Teaching and Distributed
Learning

14) 49TQ2IRE 6RIETIER 2 oI 2°d YeTaRINE Iia §GF
g9 2FESNG 9SG @8 Q4N | 69R ARIILER @6 :

A) 06986 3 9EFE, AIRINRS| 9e° 2GRl S8l gaIe
B) <1694 8 S@ld, 999¢, goie 6 g4I

C) 96934 8 gagd, dRIgaa 8 GRoINRsRdq

D) 96294l 8 Fai8, daIgale 6 Fe6e dal
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Section 3 - Paperl-Reasoning

15) If marked price is Rs.6000 and selling price is Rs. 4000,
then the percentage of discount offered is

A) 33.33%
B) 16.66%
C) 66.66%
D) 13.33%

15) 99 2@ @y 6000 oF 98° @ gaY 4000 OF 6969
FUAIRYR AR VIR 6R6S

A) 33.33%
B) 16.66%
C) 66.66%
D) 13.33%

16) What is the missing number in the given series?
961, 31, 1024, 32, 7, 33

A) 1036
B) 1025
C) 1089
D) 1049

16) 9@8 G716Q @ QI T°HIT @8 263 ?
961, 31,1024, 32,7, 33

A) 1036
B) 1025
C) 1089
D) 1049

17) Kamal is the matemal uncle of Gauri. How is Gauri's
brother's father related to Kamal's father?

A) Brother in law
B) Son

C) Sonin law
D)

Brother

17) @19 62688 651012Q (117 1 6911w QAT QA1 *ARE AT
Q¢ 62697

18) IfFASTRO is coded as YQRPM, then WOLF will be coded
as

A) UMJE
B) UMJC
C) UMIC
D) UMJD

18) 9@ ASTRO g YQRPM QI6e 6ig @8 @9IQIa8, 6069
WOLF g @@ 6r1¢ 99 @Ude

A) UMJE
B) UMJC
C) UMIC
D) UMJD

19) Karthik's father's only son's mother's husband's wife is
related to Karthik as

A) Mother

B) Grandmother
C) Aunt

D) Sister

19) Qlae QTR YRAIQ J2IA AI'T AT 9 FIEeEa 78 263

A) Qe
B) 6966l
C) §o1

)

D) e@dn
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20) What is the next number in the given series?
288, 146,75, ?

20) 99R §916Q QI LHIIYRRR IR LHIT 94 629 ?
288, 146, 75, ?

A) 32.5
B) 42.5
C) 395
D) 495
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Section 4 - Paperl-Teaching Aptitude

21) A student who faces problems in learning and retaining
things for long is said to have difficulty in

A) co-curricular activities
B) creativity

C) executive functioning
D) emotional disability

21) 60 212 F996Q ANAYIR AFHIF 2496 F04 *RRIEQ 16 AAK
&, 01210 6”R2Y6R AN 2T 69IR RIS ?

A) A2-910459 QITIRRIT
B) 9e091R3!

C) QIdiRIql 616Q%y

D) QILFINw QR

22) Management in simple words stands for the attempts of
managing

A) electric power so properly as to yield the best possible
results

B) man power so properly as to yield the best possible
results

C) the teaching aids so properly as to yield the desired
goal

D) the available resources so properly as to yield the best
possible results

22) da0nal 6208 90 990 48 KITl 98 989IRa! disl 994R Qe
Qenel ?

A) G40 920 9AQIRNGI YOG UL WIS BLQ KIS 649 TRITR
IR KEARR

B) €lFQ Q@R QEFIRGI Y8 QU@ Q16 629 UITI 65F
TRTFE AR R

C) 999 Qa9 OGN YUE QUYR QIS 629 Uil 980
Qe LAR FAAIGL

D) Qung d9e J80IR0! Y98 ad4de QIS 629 U9l 689
TR IR FEAIRRD

23) According to which school of thought,the aim of
education is "to prepare for life struggle".

A) ldealism
B) Pragmatism
C) Naturalism
D) Realism

23) 629 @69 AQAI! ‘91ee AFIF IR IS AFaI 6268 JTIR
QY

A) 2IQE1Q
B) QUQLIQRIQ
C) gqbaie
D) ek

24) Which one of the following statements is correct?

A) Inclusion in education helps in upliftment of the society
B) Inclusion in education spoils the social structure

C) Inclusion in education promotes individual learning

D) Inclusion in education is unconstitutional

24) GRS 6% VMG 0] ?

A) dR16e 9FRe 949al ARG AREES AILITY KER
B) @igleq QARG QUeql AFIFS QIrolg @& aadd
C) di916Q QFRS QUSRI 1BAC SLdq 6912195 T4
D) dQI6a QFGe QULQl 2ArFIFe

25) After a formal teachers' training course like B.Ed, the
teacher can teach the following classes

A) up to Class 10
B) up to Class 5
C) uptoClass 1
D) upto Class 12
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25) 3.4Q 9 219910 990 JANd 6291 06Q 964l JAR 6aW 6941
QY| I8P @GQIae ?

A) ©of 6gd agdie
B) 8¢l 6g¢1 agy@
C) eq 6gdn adis
D) 94 68411 aya

26) The theory of multiple intelligence was given by

Binet
Howard Gardner
Simon

A
B
C
D) Stenberg

— e S

26) Qg8 6Q180 daia 9 geIe QZsm ?

A) QIREE]
B) 621410 Qe
C) AR
D) 6396l

27) The concept of insightful learning was given by

) Vlygotsky

) Kohler

) Dollard Miller
) Skinner

27) 2e98ee S840 S999g @4 9UIe @d26R ?

A) RUCLIETNDR

B) 6912@Q

C) eqle Aae
) 4eq

=]

28) The Republic is a book written by

) Socrates
) Aristotle

) Plato

) Sophocles

A
B
Cc
D

28) 6MIaea Jaaa 6ndia @97

A) Q6969
B) aIGsaion
C) <les!

D) eQl6Tian

29) Which of the following associations encourage closer
links between home and school?

A) TAT
B) TPT
C) PTA
D) PET

29) IR0 694 QE0RT Aa 8 FMIFL FIER FEER Y
6912125 69921 ?

A) TAT
B) TPT
C) PTA
D) PET

30) Mudaliar Commission suggested all of the following to
Improve Secondary Education in India EXCEPT

A) Diversification of Courses

B) Multipurpose School

C) Duration of Secondary Education
D) Professional ethical values

30) QIREEa ARIFR d81a 3R19 TIA RN FFTEE FIRYE TR
60669 81 2IQ A8 9IS 6RRI6R ?

A) QI0Ig9R FRYFRE!

B) Qg fuIRg,

C) fia SRIR 2y

D) 694IQIQ 67G% FRIeaR
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Section 5 - Paperll-Odia Language

31) ‘afe’ 490 JaQ1e aQ x|

e

>
DD
D DD

)
)
C)
D)

W

9]
L)

- “QIidal QI0 arde acs 24 RIX” Qe 290 aF @’a?

QIRUs APSQ 968 FAQ RIF
B) PLRLR 90Q QI
) 6RIC AIVQ 98 6Q4a1

A)

D) QeRAS WPHQ 968 AdQ AIF

33) 6QaG FQ2Q a2 69169 a06 Y 99 ?

A) Q048I0

B) AT

&) QARFRRE

py kR

34) SQIRAY 6QW YRR AR ?

A) 2800QA
0e8Q
0gn
6eaQ

w

o o

)
)
)

35) ‘G]8’ A96Q ‘9’ AQUA 69U 2U6Q QUIRE ?

a) akiey
B) 90Q

c) Qe%
) QnuR

o
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36) ‘acQIaRIa’- 49! @ 99K ANIA AY ?

D) @AIGS

37) QuUe, SR, IRIR 496 ‘@’ RAQAT €O AACR QYRR ?

A) F689
B) 9@

c) S8R
p) %

25) S QUG8 9§91 6auGe 0af ¢od faln 2299 ?

A) FOUYLR FaYe
B) g KFQYe

0 [ KIS TS

D) QRIRY 8Fae

39) Q28] 99 9§ A UIQA AEA A AQ ASUA CAIA QAIAN, OIQ 8 QLIAN ?

A) 08¢
B) QniQ

c) Q9%
D) 988

40) ‘@4’- @ 9RIR AIRIA ?

n QYR
B) FeRAIL
& QREQIee

D) fPeIaQ
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41) ‘TRUIQ” 62 69 60 NS10Q AGYD ?

) €89
) AKV0A
) 6249
)

p-d

O @

201

o

42) 60 09 6QMa QU RIF, 9g, 94 G FAIQ RINQ QEN, PIRIQ € QRIAN ?

A) F6a8Y
g) e

C)
D) deasa

£3) ‘Rl 8aI’ Qfq 22 @’a?

alo agel

B) Qlo gl

0) CAICILAIS 8QIQ
D) 2QIQ @ QK

A)

44) FEAIS 6 AAQ 6REG ‘6AR’Q adaw Q6L |
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Section 6 - Paperll-Mathematics

48) The market price of a bag is Rs 55.9, if it is sold at a
discount of 15% , what is amount of discount?

46) 65T QYIg| & @FIR gAY 6268 559 g, 9F 12Ig 15%
QA2IT6R I PAICA, 6969 QLG ARAIE 6260 ?

A) Rs. 6.5
B) Rs. 7.5
C) Rs. 8.38
D) Rs. 9.33

47) If A and B are two disjoint sets, then the cardinality
n(AUB) =

A) n(A) + n(B) - n(ANB)
B) n(A) + n(B) + n(ANB)
C) n(A)n(B)

D) n(A) + n(B)

47) 96 A 99° B 9RG QU990 646 6069 G851 Q%Y n(AUB) =

A) n(A) +n(B) - n(ANB)
B) n(A) + n(B) + n(ANB)
C) n(A)n(B)

D) n(A) + n(B)

3

)
)
)
)

48) If x=1 is a common root of the equation ax? + ax+ 2=0
and x*+ x+ b =0, thenab =

A) -1
B) -2
C] 2

) 4

D

48) 99 x=1 6208 Qe ax’ + ax+2=099° x>+ x+b =0
Q ARIGE €)%, 696Q ab =

A) -1
B) -2
C) 2
D) 4

49) What is the largest number that divides 2053 and 967 by
leaving remainders 5 and 7 respectively?

A) 98
B) 64
C) 62
D) 96

49) 92 Q8 QIgl 2053 9e° 9679 QU G6Q 9Q° FAIFEA 5
B 7 WIFEsd Q6% G2l @8 ?

A) 98
B) 64
C) 62
D) 96

50) If a, b and x are real numbers such thata < b, then

A) (a+x)f(b+x) <alb
B) (a+x)/(b+x) = alb
C) (a+x)/(b+x) = b/a
D) (a+x)/(b+x) > alb

50) 9@ a, b \99° x 626E QI9e A°H 6990F a < b, 60969
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51) AA1@QE ax? + 2x + a = 0 @ 986 7 )@ OLE, K9

52) A quadrilateral ABCD is a parallelogram if angle A =
angle C and

A) angle B=2angle D
B) angle B=angle D
C) 2angle B=angle D
D) AB=2BD

52) ABCD 99¢i& 6268 1@ AFIsda 639 OF 6916l A = 67161 C
qQ°

A) 6161 B =2 6@16 D
B) 616 B =616 D
C) 269161 B =691 D
D) AB =2BD

53) The square root of (x-2a)(x-5a) (x-8a) (x-11a) + 81a*is

A) ¥ + 13ax

B) x+ 13ax+31a

C) (x*-13ax+ 31a?
D) (- 13ax)

53) (x-2a)(x-5a) (x-8a) (x-11a) + 81a*Q QGEIR 6060

A) 2 + 13ax

B) x+ 13ax +31a
C) (x*-13ax+ 31a?
D) (x*-13ax)

54) A linear pair of angles are always

A) supplementary angles
B) complementary angles
C) obtuse angles

D) acute angles

54) AQn 6RIYR 616 6QI| AGERER

A) J8geR 6RId
B) agges exid
C) 9% 6218
D) g% 69181

55) If four sides of a qualidrilateral ABCD are tangential to a
circle then

A) AB+CD=AC +BC
B) AC+AD=BC +DB
C) AB+CD=BC +AD
D) AC+AD=BD +CD

55) 9@ ABCD 9geiea 913 QIf 63lI5: 98 9 A91a a1 6561

A) AB+CD = AC + BC
B) AC + AD =BC + DB
C) AB+CD=BC +AD
D) AC+AD=BD+CD

56) If the HCF of 210 and 55 expressible in the form of 210x5
+ 55y, what is y?

A) -17
B) -19
C) -18
D) 19

56) @G 210 98 55 Q@ Q4G 210x5 + 55y @I Q4
QAVIATRR, 6069 y G @4 26T ?

A) -17
B) -19
)18
D) 19
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57) Which of the following statements is TRUE?
) 3v9 < 4v20
) 3V9 > 4420
) 3V9 = 4420
)

A
B
C
D) 3V9 =46

57) GRS FIQ 696 GaF OF 266 ?
A) 3V9 < 420
B) 3v9 > 4v20
C) 3V9 =420
D) 3vV9 =46

58) The fourth proportional to 4, 6, 8 is

A) 13
B) 11
C) 14
D) 12

58) 4,6, 8 @ 98 2QUGRT 6269

59) If the cost price : selling price = 4:3, then what is the profit
or loss percentage?

A) 25% loss
B) 33.33% loss
C) 33.33% profit
D) 25% profit

59) AT @4l aY: T gl = 4:3, 6969 NIR U FTQ JGIIS 6969
?

A) 25% @6
B) 33.33% a0
C) 33.33% aiW
D) 25% I

60) If A and B are two sets such that n(A) = 115, n(B) = 326,
n(A - B) = 47, then value of n(A U B) is

A) 373
B) NOT possible to determine.
C) 326
D) 441

60) 99 A ¥Q° B 6208 QRF 649 60da@ n(A) = 115, n(B) =
326, n(A - B) = 47, 6869 n(A U B)Q qa4 6208

A) 373
B) fda /6@ aae g6<l
C) 326
D) 441
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Section 7 - Paperll-Social Science

61) According to the India Energy Portal, which of the
following places is considered to be a good source of
geothermal energy?

A) East coast of Godavari basin
B) Gulf of Kutch in Gujarat

C) Kurnool district of Andhra Pradesh
D) Puga valley in Ladakh

61) QIRG 93 6TIFIR 2gAIR, FIRYS 696 AR GIIA IR 1R
AN AL QES VGG PN ?

A) 601919018 624] @ §I0F
B) 4FQISQ g QOge

C) 2Ig 96990 @gn G

D) QISR g9 AaeuIgl

62) The equatorial belt of calms where the northeastern and
southeastern trade winds converge and which is
characterized by high variable winds, stormy weather are
called:

A) Doldrums
B) Easterlies
C) Tropics

D) Westerlies

62) 9219 PFI 688l 92Q 6JK0I6R ARRYS 8 @REge a9
fg12i@ @ Qg gen d96 @ ELEIITe AIs 98 @69, FIRIg @48
QRIAN ?

A) FQR-A9R

B) QeIRgen Qig A€
C) a8 age

D) Q89 Qg faw

63) Which of the following options is the supreme or the
union legislative body of India?

A) Supreme Court
B) Vidhan Sabha
C) High Court
D) Parliament

63) G679 629 9T RICQ AP B AT AR AR
A1 e Q9 268 ?

A) Q5QIQ 2QIRG

B) QuIf Q%

C) Q% GoIQIRY/ @F ARG
D) @°QQ

64) The Dilwara temples at Mount Abu are the popular
pilgrimage of which of the following religious sects?

A) Judaism
B) Jainism
C) Islam

D) Buddhism

64) (I9e 21 §6 OR GiQl FIRAAFR 67 AR YU IR
sRIRga 918l 99 2se ?

A) dgat ad
B) €3¢ &el
C) Qe

D) 69& a6

65) The point of the orbit closest to Earth where the Moon
appears larger is called:

A) Apocenter
B) Epicentre
C) Perigee
D) Apogee

65) RE026R 29I Y2RIa Faees §Y, 6UR0IER 95 26TNIGS 9
6QGIAN, GI2IQ K6 QRIAINRAN ?

A) 2I6QI6A°CR
B) 226a%

C) @-aq1ae
D) gfiee
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66) The only constitutional body authorised to introduce a
Money Bill in India is:

A) Rajya Sabha

B) Lok Sabha

C) Gram Panchayat
D) Lok Adalat

66) QIQGER Tl FGULR QUATR SRR AUKIQ YY 9RAIQ
ARIFS 2QVR 62083 :

A) QIgY Qg
B) 6RI9 Q@
C) 9iq QBINe
D) 6RIQ 2QRE

67) The theory which explains that all the continents had
initially been one big landmass which broke up into smaller
units and these continents are in the state of constantmotion
is called:

A) Continental Drift Theory

B) Sphere Drift Theory

C) Convectional Current Theory
D) Sea Floor Spreading Theory

67) ARI8 QIR AQAIER A ARIERE 2IREQ @ OF QRIS gl 8
d6Q 960 6AGER 6819 68I9 WIGEA QE@ el 9e° Q8
A26e9960 Gaaa 96 @g8d, eIrIR 0l ad ?

A) Q8609 BT 261

B) d2q & 26

C) 976QeQ%IR R6a°g J6a
D) dsepe 69%° 261

68) The essay written by which American writer inspired
Gandhiji for Civil Disobedience Movement?

A) Jean-Jacques Rousseau
B) Walt Whitman

C) Ernest Hemingway

D) Henry David Thoreau

68) 6RQ 2CAANG RNIRT gee Q@GMGQ‘; LG Y 2RI
i 6gQdll eRem| ?

A) GR-2199 Q6

B) 4ing geeq

C) 2699 69¢iared

D) 6209 6%4q 62160

69) How many Cantonments have been notified in India
under the Cantonments Act, 19247

A) 62
B) 52
C) 46
D) 58

69) QUILAEAS 2R, 1924 2YAER NRAGER EREBIT FUISREFIAG
YT KAILIRE ?

A) 62
B) 52
C) 46
D) 58

70) According to the Constitution of India, what is the
maximum number of members in the State Legislative
Assembly?

A) 350 members
B) 160 members
C) 240 members
D) 500 members

70) QIQR1E QISR 2gdIea QY Qe AQIQ Qldléﬁ‘ QY sl
6960 62Indien ?

A) 350 Q@Qy
B) 160 Q@Qy
C) 240 QQQy
D) 500 gy
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71) Which among the following Vedas is a collection of
hymns and is divided into 10 Mandalas?

A) Atharvaveda
) Rigveda

) Samaveda
)

B
C
D) Yajurveda

71) F69I8 609 692, 26 A7PA YA AR Ie° 24T ALRER Fae
26e ?

A) 22Iq 69@
B) 9@ 699
C) QIF 68@
D) Qg 6Q@

72) Which act of the British Government led to the genesis
of Swadeshi and Boycott movements in India?

Jallianwala Bagh Massacre
Rowlett Act
Khilafat Movement

A
B
C
D) Partition of Bengal

— S N

72) §59 ORISR 679 IS , 699 G2l AAV6AIS TIERIFAR
2 FIQE eL1RmI 7

A) QRS ARG SEIFGYI
B) 6QI26RS 2R,

C) 4RITe 2IcRIes

D) Q@ @&

73) Tropic of Cancer is an important parallel of latitude that
lies in the:

A) Southern Hemisphere
B) Frigid Zone
C) Equator
D) Northern Hemisphere

73) @96 QI8 2496 Y@ ggrgd AAIBaIR 666 2986 :

A) G349 coIRIE
B) & q4ae
C) Gam 98

)

D) 9Q9 oIS

74) The removal of top layers of soil by wind and water is
known as:

A) Soil erosion

) Deforestation

) Soil conservation
)

B
C
D) Defertilisation

4) QI @9 99 FIQ 9P VAR AR 2N § GRIAN -

A) fae S

B) faa QI4

C) q8eI a8

D) @900 Q14 a4

75) Which of the following is the lowest layer of the
atmosphere?

) Stratosphere
) Troposphere
) Exosphere

)

A
B
C
D) Mesosphere

75) @¢] MgQ R 6796 QU D@ QQ &) 206Q 2 ?

A) gI561Q TQ
B) 69199 849
C) 999 &9

D) 6q6Qiq &9a
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Section 8 - Paperll-Science

76) There is a certain relationship between two given words
on one side of :: and one word is given on another side of ::
while another word is to be found from the given alternatives,
having the same relation with this word as the words of the
given pair bear. Choose the CORRECT altenative.

Cholera: Bacteria :: Smallpox: ?

)
) algae
)
)

76) Q Q@ AIS6A , IR 9AF U9 FRIEA U@ FEY ANG QEEF, 1Q°
QIR JISER 99 d9 GAYINE ; 6K60696R & GRILIRYS
GR8Q 254 405Q 65IF QIZIR 6RARIG 6289 , 6ALYI6R @ 69T 9
QY 905 AT , 60F60 RILIRYYS IR YIFA AR IR §EC gal
2Iegya | 0] & Qg -

LG UG 9DS 6QUT!: 7

feq
6EQlR
1916

g9k

B
C

77) Which of the following is the function of
pneumatophores?

A) respiration

B) photosynthesis
C) climbing

D) support

77) G6QIR FUIQ QIAIETIETIERIY(GAR F) @ QI @4l ?

A) 913Gl
B) 26RIQ TeqE

D) QgIgS!

)
)

C) @4
)

78) Which scientist's surname is used as unit of work and
energy?

) Max Planck

) Michael Faraday

} Charles-Augustin de Coulomb
)

A
B
C
D) James Prescott Joule

78) 694 69RIGAS QAR @I G2l 439 AR IR S T ?

A) QIg Qe

B) QIR6RM TIAI6ES

C) o6Rq 9G.R 6@ g7
)

D) 6% 699 @q g

79) Which of the following is the CORRECT statements for
VVan der Waals forces?

A) Van der Waals forces vary considerably in magnitude
and include dispersion forces

B) Van der Waals forces exhibit constant magnitude and
include dispersion forces

C) Van der Waals forces vary considerably in magnitude
and does not include dispersion forces

D) Van der Waals forces does not exhibit any changes in
magnitude nor in dispersion forces

79) Q67118 69416 QIR 699 IR . 97 FuK6a A0R B 6P

A) QIR 69Q @I . 9@ 62 VIS JASER 99 8 F6T0E IR
UBED F6ER

B) @I 62Q €Y. 9% AGI6R Sas! 941 e F68A4 R
22D A6

C) QIR 699 @R, OF K628 RIE] VAR 998 FEWAE 9RQ
2UBHS F6Q A1

D) QI 699 4R, 9F JGFIEER @l 68U ORsa 6e161E
aGeaR QdIN Q1§
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80) Which of the following statements is TRUE about
passive transport?

A) Endocytosis is a type of passive transport

B) Movement of molecules across the membrane with the
use of energy

C) Sodium Potassium pump is a type of passive transport
D) Movement of molecules across the membrane without
the use of energy

80) G671 690 O3 Fg 0092R TEEa AN 26T ?

A) 164 AURCHITY 9P AGA AL 2168

B) 4@ 4e2ia @8 R 69a 8¢ JEea 9E

C) cagas 6a1o1der a¢t 9@ F§e 98Les 269
D) GRIe% QIITIRER IR 6GR 2§ JFaa 9F

81) Which of the following is an example of endothermic
reaction?

A) Cup of water is added to the quick lime
B) Burning of coal in air

C) Dissolving of glucose in water

D) Formation of ammonia

81) FIRYS FIQ 606 Y68IAFR IETAIR 9@ QLIRS AT ?

A) dageea @6d QIé AGIKINE
B) QIg6Q 69lpm 6 RS

C) QIdiea geaIq ficaa ARG
D) 969158 Qg

82) Which of the following statements is CORRECT about
plant cell wall?

A) Primary cell wall is present outside the secondary cell
wall and is incapable of growth and expansion

B) Primary cell wall is present inside the secondary cell
wall and is capable of growth and expansion

C) Primary cell wall is present outside the secondary cell
wall and is capable of growth and expansion

D) Primary cell wall is present inside the secondary cell
wall and is incapable of growth and expansion

WtsApp/Call- 8596976190

82) aSi9q 6919 gIP1R SE06a F6aIR AUg 6aa 2aF a0] 26e
?

A) 626@4IQ1 6218 gIo1R QIZIES gl2IFa 6919 9I01R QF8 9e°
121 992G 6 §2IQ 9R9Iq ABA Q6w

B) 6260411 6219 91016 G96a gIafia 6219 91010 Q@8 1e°
2| 9a6 8 G990 KAQIg AL

C) 6969IQ1 6018 ISR QILIEA YIIFR 618 JI91Q QFF 9e°
N2 AR6 6 G910 QAQIg ARVE!

D) 69624Iq1 6213 91918 @66 gI2fa 6219 g0 Q&a 41e°
121 2R3 8 A2Q 8Ig AVA G6L

83) Blackening of silver article, when kept in the open for
long time is due to formation of

A) AgSO4
B) Ag:S
C) H2S
D) AgS

83) QUI G5aq 267 @g G9 AT 6HINES QYen 12l @6 Y3 624
6RIIG @R OFANg ?

) AgSO4
) Ag2S
) HzS
D) AgS

A
B
c

84) The value of 'g' as the acceleration due to gravity at the
surface of the earth is
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85) A charged battery is an example of

) potential radiant energy

) potential chemical energy
) potential sound energy

)

A
B
Cc
D) potential thermal energy

85) ole QACLREQ QUIETA LILIR AWEAE] |, BIL| 69MI

A) 307 Qg 98
B) 98¢ QQRGe 83
C) 95a 9 &=

D) J%¢ oKIw 8

86) An alpha particle is made of two protons and

A) four neutrons
B) one neutron
C) two neutrons
D) three neutrons

86) 2N KTl Qa6 69I6FIR 8 8GY @12 65@ G1I0C 6aIRalN ?

87) Absolute zero is the lowest hypothetical or imaginary
temperature at which gases are supposed to occupy

A) zero volume
B) zero gravity
C) zero pressure
D) zero density

87) 90¢1 )54 626 1@ AIGAIRS GAl QIERR CIIAIG 6U606R6R
QL MEAR 29l 91 99 :

A) g84 AT
B) ga ARIGSE
C) g4 ol

D) §a4 el
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88) Tendrils of Pisum sativum are the examples of madified

A) Petiole
B) Leaf
C) Stem
D) Stipule

88) FI9QGI8 ROIR AIFE 626ER IR IFEG QIR TG ?

A) 98
B) @@
C) @18
D) Q&

89) Methanobacterium are commeonly found in the anaerobic
sludge during sewage treatment. However, they are

A) also present in the rumen of cattle

B) also present in the liver of humans

C) also present in the stomach of humans
D) also present in the brain of cattle

89) {l2IERIQUIERREF] ARIQESS QIR AT AALER QULIQYQI
QPSR IT6R 60YQIq GG | 6069 6AGER

A) 6OIQE BKIAER C1 &IF
B) F189Q 9996 C1u aIE
C) 988R AISAR16a 12l 2Ig
D) coige (396 F1al 21E

90) The counterstain used in Ziehl-Neelsen (ZN) method of
Acid Fast staining technique is

A) ethanol

B) methylene blue
C) safranin

D) ethidium bromide

90) ¥dg T1a cAGT Q Ga GRR AIR1 68 SYQLE, FAAG TG
Qea

A) qelIeqIR

B) 6012AQ Q.

C) AgIfg

D) 99&aq 69191RG
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Answer Key
L. €% L. A 61.D
Z2: A 32: D 61: A
3. B 33. A 63.D
4. B 34. C 64. B
3. B 35. A 65 €
6. C 36. B 66. B
1 B: B3f. X 6. A&
8. B 38. C 68.D
5. B 39.C 09. A
10. A 40. A 70. D
1. € 4l. G 7.8
12. A 42. A 72. D
3. B 45.€ B.D
14. B 4. D 74. A
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6. C 46. C 76. D
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19 A 49. B 79. A
200 50. D 80.D
21.€¢ 51.D 8l.C
22.D 52.B 8. C
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24, A 54. A 84. B
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